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In OF, determine whothorn fho glvan arc is I mlnar QI:O; mllor arc,
or semicircle. ‘

A
1. 4B MNoY 2. & Minpr X c
3. EAC sewiciTle . 4D Majpy | "
5. CAD MQj0Y . DEB SemiCirCle .
7. BAE Minoy  s. SEC Majur \

In the figure, PR and QS are diameters of OU. Find the measurs of the

indicated arc. P Q - g L -4 2
s. mpo 12° 10. mst 74" :((: _MO
1. miPs 251° 1z mRT 1W° A N —
15. mRQS 313° 14 mDR 138’ . =
15. mPOS 022° 18 mTOR 244° / Y = | 2%
17. mPS \39° 18 mPIR 150" 3
PQ has a measure of 90° in OR. Flndtl;olongthofﬁi g . 2
B . 0. 0"+ 1v°= PQ
' w77 PR 200 = PQZ
7 43' = FQz P
H‘ 7 Q - Pa q,- S m = Pg_.
9.9% 74| |I'{.HzFQl
Find the indicated .m.njm':’— L S,
21, miC 2. mACB 23. mDAB e
. X ) c
A D

m DAB = 225

— ° Fo »
mac = 125 5 mAce’= 24

Two diameters of OT are Pa and RS. Find the given arc measure

it mPR = 35".
Pl
24. mPS

145" 325" 180"

26. mPRQ " 27 mPRS
215°

25. mPSR
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Two diameters of ON are JK and LM. Find the given arc measure l 2 15°
if mJM= 165,
28. m.g. 29, m.m) ' 30. nnﬂ 31. mm
I | §0° ’ ’
Tell whether the given arcs are congruent. Ms 345
£32. ffnnd OR ND‘\' (Dn%\(u e‘n,‘—\ 33. f/l:?\:md EB
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34, EF and Gl Nob Cmugl’l infy.! ] 35, STV and 0VT ‘
; Not Congruent
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Game Shows Each game show wheel shown is divided into congruent
sections. Find the measure of each arc. \zp

36.

In Exercises 39 and 40, use the following information.

Sprinkler A water sprinkler covers the shaded arca shown in the figure. ~ -~
d <0
[t moves through the covered area at a rate of about 3° per secoud.

[ ]
39. What is the measure of the arc covered by the sprinkler? | 70

40. Ifthe sprinkler starts at the far left position,
how long will it take for the sprinklcr to reach

the far right position? 0
7 = 24 sends
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